Scan Strategy Formula Operations Output Re-check (S 2FO2R)                                                                                           

1.0: RELATIONS & FUNCTIONS 
	1.1: Domain, Co-domain, Range

a) Setiap Perkataan di atas mempunyai abjad ‘n’, kaitkannya dengan, ‘n’ = notation. Jawapan perlu ditulis menggunakan set notation, {  }. Contoh : {a,b,c,d}
1.2 : Range or Julat

a) Ran-g-e = Rantai gi imej

b) J-ulat     = Jejak – ulat

                             [image: image1.emf]Range = { a, c }
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                                                                                                 Answer: 

a) Domain = { 1, 2 }

b) Codomain = { a, b, c }

1.3 : Type of relation : 
a) One-to-one, One-to-many, many-to-one, many-to many
Example 1: 
                   [image: image2.emf]1  1

2  1

Ambil nombor yg paling besar, iaitu 2.

Petunjuk: 

no.2 = many

no. 1 = one

type of relation = many to one
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          Example 2:
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Jika terdapat dua kes yang bercampur iaitu : 

3  1 : many to one  atau 

1  2 : one to many 

                

type of relation = many to many
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1. 4 : Composite Functions
a) Find f g (x)  or g f (x) 

b) Find g (x) or f (x), given f g (x)  or g f (x)

1. Perlu cari inverse function sama ada untuk f (x) atau g (x).
      Step to find Inverse Function: 

1. Arrange the function in form of:

                  f(x) = ax + b

2. Add the denominator to the function.

                 f(x) = 
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3. Find the inverse function by using this tips:

                 i) Remain the number & unknown   in the box as follows:

            [image: image5.emf]f(x) = 

x   +  3

       1


ii) x and 1 will change its position.

            When x moves to position 1, it becomes -1; when 1 move to position x , it

            becomes –x. refer as follows:
                   [image: image6.emf]f 
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iii) The x unknown normally written in positive value. To make it becomes

             positive, multiply the numerator & denominator by (- 1).

iv) Lastly, we got the inverse function as follows:

                        f -1(x) = x -3
2.  Jika fungsi yang diberi tidak berbentuk pecahan, seperti g:x→ 5x + 2, cari g -1(6).
Penyelesaian: Gunakan Kaedah 90’s 

                                 [image: image7.emf]f(x)     =    5  x +   2
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3. Jangan ubah nilai composite functions yang diberi, “Ikatkannya” dan perlu

    darabkannya dengan  f -1 atau g -1 untuk dapatkan f(x) atau g(x). 
    Contoh: g(x) =  g f [f -1  (x)] atau  f(x) = f g [g -1(x)] . Pastikan [ f x f -1]. 
     Example: Find the g(x)
a) f(x) = 2x + 1
gf(x) = x - 4

          Method 1:                  
            g(x) =  g f [f -1  (x)]
           f(x) = 2x + 1                                                      To find Inverse function: 
                                                                                 [image: image8.emf]f(x) =  2  x    +    1
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         g(x)    =   gf [f -1  (x)]
                   =   gf [
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           Method 2 :
b) f(x) = 2x + 1

gf(x) = x - 4
           gf(x) = g [ f(x) ]

                    = g [ 2x + 1 ]
          Let 2x+1 = y

                2x = y – 1

                  x = y – 1 

                           2

             g (y) = x – 4                                   

                      = 
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4) Jika fungsi yang diberi tidak berbentuk pecahan, seperti g:x→ 5x2 + 2. Cari f -1(x).

     Gunakkan penyelesaian 90’s method:

                [image: image18.emf]f (x) = 5x
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1.4b: TO FIND THE RELATED FUNCTION GIVEN THE COMPOSITE FUNCTION 

         AND ONE OF THE FUNCTIONS (USING SFOOR METHOD)

Question

Suggestion Solution

Q1: f( x) = 2x + 4

      gf(x) = 3x+8. 

Find the function g.
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Q2: f(x) = 3x + 2
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. Find the function g.
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Q3: 
[image: image26.wmf]x

x

f

1

)

(

=


     
[image: image27.wmf]1

10

15

)

(

-

=

x

x

gf


  Find the function g.
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1.4b: TO FIND THE RELATED FUNCTION GIVEN THE COMPOSITE FUNCTION 

         AND ONE OF THE FUNCTIONS (USING SFOOR METHOD)

	Question
	Suggestion Solution

	Q1: f( x) = x - 2
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Find the function g.
	f( x) = x – 2

g(x) = ?
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	Q2: f(x) = 2x + 3
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. Find the function g.
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	Q3: 
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Find the function g.
	[image: image44.emf]g(x) =  4x
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	Q4: 
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. Find the function g.

Answer: 
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	Q5: 
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Find:

a) g(x)

b) the value of x when gh(x) = 4

Answer: 

a) g(x) = 5x + 2

b) x = 
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